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SQUARE ROOT AND CUBE ROOT (1-4)

Name of the candidates *

M1 v

Place of the candidates *

KOZHIKODE v

WhatsApp number (Joined in sai edn coaching pLaHorm)

0101

Questions



Please watch the online classes and answer the following questions.

https://youtu.be/790Sk6evQFs
https://youtu.be/44dgx-zJLmE
https://youtu.be/fbCS0j20z_M
https://youtu.be/FUYNOMopMGQ

V248 + V(52+ \1u4) *

@ 16
() 14
O 1
O 7

2)Evaluate: V16384 *

O m
@ 128
() 150
() 100

3)Show that 216 is a perfect cube. Find the number whose cube is 216. *

() s
O 4
® o
O 7

1 point

1 point

1 point


https://www.google.com/url?q=https://youtu.be/790Sk6evQFs&sa=D&ust=1610124626453000&usg=AFQjCNHg2hQtp5YiJT2D3Ou3g8kZMpUedg
https://www.google.com/url?q=https://youtu.be/44dgx-zJLmE&sa=D&ust=1610124626453000&usg=AFQjCNGOVOKSQw1HUtpSCGwlWx7L_JnfaQ
https://www.google.com/url?q=https://youtu.be/fbCS0j20z_M&sa=D&ust=1610124626453000&usg=AFQjCNF_JkQk6fWLITylcVdoIPiHn5bhKQ
https://www.google.com/url?q=https://youtu.be/FUYNOMopMGQ&sa=D&ust=1610124626453000&usg=AFQjCNFxMjIajYc47OA1BIvq8J5ruD8tWg

4)What is the smallest number by which 308% may be multiplied so that the product is a perfect cube? * 1 point

O 2
O 4
O 9
@ s

5)What is the smallest number by which 392 may be divided so that the quotient is a perfect cube? * 1 point

O 94
@ 49
O 7
O 97

6)Find cube: (-1)* * 1 point

@ -343

-345



1)Find cube: (1°/3)* * 1 point

() 12517
@ 125727
() 125119
() 115727

8)Find cube: (0.06) * * 1 point

@® 27/125000
(O 27/128000
() 241125000

() 27/12500

9D(V24 +V216) /96 = 2 * 1 point

O s
OMA
O
O s



10) (V5 - \3)/ (N5 + 3) is equal o ? * 1 point

O -1y
() (2-\15)
O @-\15)
@® @4-15)

M) 1/ (Nq9-8) =2* 1 point

® B+2\0)
() B+3V2)
() B+5V2)
O B+7V2)

12)The cube root of .00002% is ? * 1 point

@® o003
() 0.04
() 0.00
() 0.09



13)The least number by which 216 must be divided to make the result a perfect square is ? * 1 point

O 4
@ o
O s
O 9

14)The value of V0.121is ? * 1 point

() 0345
@ 0347
() 0.349
() 0.000

15)The cube root of .000216 is: * 1 point

(O o6

() 0.006
@® o006
() 066



16)What is the cube root of 21917 * 1 point

O 10
@ 13
O 14
On

1%)The least number by which 234 must be multiplied to make it a perfect square, is: * 1 point

O s
@ o
O 9
O 10

18)The least number by which 1430 must be divided fo get a number which is a perfect square, is * 1 point

@ 30
(O 40
() 45
O 22



19)Evaluate: ¥1216 x (-343)] * 1 point

@ O OO

20)V248 + V(52+ \1ub) * 1 point

O 10
@ 16
O 1
() 13

Thank you!
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